Eye Bolt, M6 | PM1200-05

Product Images

N - Z
:l
==
=
=
==
-
b =
- =1
z=
s =1
’,E
2]
=
i3
e
s 5

i

7/27/24

https://powermatic.com/eye-bolt-m6-pm1200-05



https://powermatic.com/eye-bolt-m6-pm1200-05

Additional Information

Stock Number
Model Number
Prop 65
Warranty

Gross Weight

PM9-PM1200-05

PM1200-05

No value

No value

0.01

https://powermatic.com/eye-bolt-m6-pm1200-05

7/27/24


https://powermatic.com/eye-bolt-m6-pm1200-05

